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Instructions for Candidates :

Il & forg fder
Attempt any four questions.
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All questions carry equal marks.
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Q.1 Compare the Classical and Keynesian views on the speed of wage and price
adjustment.What are the important consequences of the differences in their views. (18.75)
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Q.2 (A) Explain how investment(l) in the economy is supported from saving(S) by (i) the private sector
(if) government sector and (iii) current account balance
(B) List the four components of total spending. Why are imports subtracted when GDP is calculated in
the expenditure approach ?
(9+9.75)
(i) 9T o creferarer # a9 &9 gl (i) o & gRT (i) RGN &5 gRT qen
(iii) =Te], @ A9 ¥ TR 7|
(i) F9Y I S IR G<Hl Bl FAldg DX FHY Y GEDIU & il g Aol BRe] IUTa
(GDP) &1 aabferd fhar ST € o1 3l bl @i BerdT Sl &2

Q.3 (i) Define the term "corn- economy"
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(ii) Given the following data for a hypothetical economy;-
C =50+ 0.8 Yy
I = %70 Crores
G = %200Crores,

TR =100 Crores



(1)
Q5

t=0.2

(i) Calculate the equilibrium level of income and multiplier in this model,
(ii) Calculate also the budget surplus ,
(ili)  Suppose that t increases to 0.25. What is the new equilibrium income? The new multiplier.

(9.75 +9)
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C =50+ 0.8 Yy
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t=0.2
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(i) Give two equivalent ways of describing equilibrium in the goods market. Use a diagram to show
how goods market equilibrium is attained.

(if) What are the two components of user cost of capital? Explain. (10.75+8)
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Define net export function. An increase in marginal propensity to import reduces the equilibrium
income in an open economy while an increase in autonomous export increases the equilibrium
income. Explain with the help of a diagram (18.75)
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Q.6 (i) Define financial market equilibrium. Show the effect of an increase in nominal income on the
interest rate.

(it) What is high powered money? Explain the concept of money multiplier. (10+8.75)
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